Zadania

1. Obliczyé¢ pochodne funkcji:

a) f(z) = %x?’ — %x4 + l—g’xf’ —22%  g(z) =521 — 2% + x —2
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¢) f(z) =4a¥/z, g(z) =

Q) f2) =V, glw) =57

e) f(x) =23cosz, g(x)=sinzcosz, h(r)=zlnz

f) f(z) = (5a" =223 +x—20)e®, g(z) = (927+327°—32711)2% h(x) = varcsinz

7 2 3
9 S = LI 2 e W) =
2 2

016 =Ty K-y MO e

i) f(z) =322 =Tz +12, g(x)= (4a° — 723 + 142? — 5)3

i) y=sindz, s=3Bt+1)7, v=(422 —5z+13)3

k) f(z) =cos’z, g(z)=tg'z, h(z)=arcsin2

) flz)=e", g(z)= 641376x+1’ h(x) = esin@

m) f(z)=5"+2% gx)=2-7"—1, () —x2—|—16

n) flz) =7-5", g(x) =5-10%", h(z) =

o) f(z) =10lnz +€*, g¢(z) = In3x, h(m) =5In 10z

p) f(z) =3In-2, g(z) =Insinz, h(z)=Ilogsx

r) f(z) =logs (z2 — 1), g(x) =log,(36 — %), h(z)=+VInz

s) f(x)=2a% g(z)=2"% h(x)=2"dlaz>0
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